
 

 
  Lesson 28 Exit Ticket 5 2 

Name              Date       

Solve this problem, and show all of your work. 

Kenny is ordering uniforms for both the girls’ and boys’ tennis clubs.  He is ordering shirts for 43 players and 

two coaches at a total cost of $658.35.  Additionally, he is ordering visors for each player at a total cost of 

$368.51.  How much will each player pay for the shirt and visor? 

 

Lesson 28: Solve division word problems involving multi-digit division with group 

size unknown and the number of groups unknown.
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658.35
45

84.3653771 997

45
208

It 180
283
270
135

45people 1350

368.51 perperson

437368875 for a visor

It 344
245
215
301

4g3people 3010

Playertotal 14.63 Eachplayerwillpay
18.52 23.20 fora shirt
23.20 and visor


